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is at 20cm , the magnifications is:

Iny 20em = HE1 5 5y 60cm o # LT 0N
ol i iabia

40

| =

O
O

O

O

Human ear can respond fo the intensity of:

e S ST et kU

1072w to
10/¥m™

107%™ to
W™

107%™ to
0.1#m™

107%Win™? 1o
10012

O
O
O
O

Potential difference between two points is
20V . The work needed to shift 10 coulomb
charge from one point to other will be;

adfig Ll £ IN0-e 20v A BP0 Py
Tb’ﬂ;b’».ﬂ:lﬁ'fé&.}'_/y&lgf_/u

107

100J

200J

2/

O
O
O
O

How long does it take a current of 50 mA to
transfer 10 C charge?
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The output of a NOR gate is 1 when:
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SECTION ~ B (Marks 33)

Q.2 Answer the following questions briefly.

(11 x3=33)

A2 f Mz F Lot 24

(i) | Compare the time periods of a pendulum in Enlist the necessary conditions to produce echo. 1.5
Islamabad and Mount E\ierest. 3 | OR _q/{’;g,;dj,ﬁé_LLﬁ%éf +
SNt e AT I Lo 1.5
(i) | Describe the factors affecting the loudness of sound. 3 | OR Briefly explain damping. Discuss its graphical form. 142
Lo S At | LIS S e S LB
(iii) | What will be the speed of light in diamond that has a Briefly elaborate mutual induction. Make a schematic
refractive index of 2.427 3 | oRr/| diagram. Write its units. 1%3
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(iv) | Two small, equally charged metal spheres, having Find the power delivered to an air conditioner when it
charge 5 pC each are placed at a distance of 4.0 cm draws a current of 12 A when connecied to a power
between them. Calculate the magnitude of force. s | OR supply of 210 V- 3
L£4.0 cmecf L pncfl 772 L5 PO sltedsf s et e 124 Sird210v2 85
S ddl S ot b
(v} | Light enters from air into glass of refractive index 1.55 A battery torch bulb uses 8 cells {each of 1.5 V) to
at an angle of 35° What is the value of angle of glow. If resistance of the bulb is 100, determine the
refraction of glass? ) 3 OR current. 3
e iy L L350 55 AR AN et o #10 Qe pfod Sl brefua J3L15V AbGtS k]
LS FE T S -7 p‘%rﬁ‘J 227
{vi) | An electric heater working at a potential difference of Radium-226 undergoes alpha decay. Write the
240 V draws 30 A of current. How much electrical reaction equation, and determine the ideniity o
energy will it consume in 90 minutes? 3 OR daughter nucleus. o
b1 22 30A 0 £ ¥ gt 33y Laaov oA Etpos Bt e S P L1 bt S0 U226 s
W S EAS G Snr90ye dSE A
{vii)| Briefly explain the Right-Hand Rule for the case of Discuss NOR gate with jts circuit diagram, symbol
current passing through a solenoid. 3 | oR| and truth table. 1x3
LA dmernd Lo Si e ptde SN AR L JE 7 Bl o nf LfNoR
(viil} Briefly elaborate the methods to increase the Compare RAM and ROM memories. 15
resultant force on armature of DC motor. 1x3 | OR S oK ROMAIRAM |+
IO E S L L ey etin AT L 2D ) 1.5
(ix) | A 24V battery passes a 30mA current through a State Right Hand Rule for current passing through a
resistor. Find value of resistance used in this circuit. 3 | or /| conductor placed inside a uniform magnetic field. 3
ST i e SRomae 2 i e 2av ) SIS et Lo e Py e 8
{x) | Elaborate transmission of signal through optical fiber. OR Differentiate analogue and digital electronics.
ool tuail P i | PO LSS T | P
{xi) | What will be the atomic mass and atomic number of Determine the electrostatic force beiween Nitrogen
the nuclei that comes after beta decay of Thorium nucleus (having 7 protons) and the valence electron
(Th-234)? What is its name? 2:1 | OR which is at a distance of 4.8nm from the nucleus. 3
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SECTION — C {Marks 20)
Note: Answer the following questions. {4 x 5=20) I F ML il
Q.3 | Show that motion of a Simple Pendulum is SHM. Explain force on a current carrying conductor in a
Derive formulae of ifs time period and frequency. 2341 uniform magnetic field. Also draw diagrams.
LF b minfrlvie dnsuMm? rSdias Sy et | 41 | OR e (ff’n;;:'q/ oles§uid it S et | 32
SIS Ll
Q.4 | Explain combination of capacitors in parallel with SONAR sends ultrasound signal o sea bed. It is
diagram. Alsc give its characteristics and derive a received back after 9.2 s. If speed of sound in water is
relation for its equivalent capacitance. 241 | op 1500 ms™. Find the depth of sea bed. 05
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Q.5 | Elaborate the working of compound microscope. Discuss the use of logic gates in: Jf
Draw ray diagram. Determine its magnifying power. D i 5
4 eI B R | 2.5
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Q.6 | Explain nuclear fission reaction in detail along with Differentiate primary and secondary memories. Why! o ¢
diagram and nuclear equation. 3+1 | 5@ | are both needed in computers? -
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The most suitable means of continuous|Ultrasonic Any light
L. communication between a sateliite and earth is: {waves Sound waves |waves Radio waves O O O O
S AT et S & £ s S P G L A st 5B i Ikl a8 Iy
The haif-life of a certain isotope is 1 day. [ I 1 | '
1. What quantity of it will be left afte: 2 days? | _ - = - O O O O
sf g Franate w01 SIS AT 1 4 § 16 1
When U™ ejects a beta particle(p), the
3. number of protons left in the nucleus are: {92 93 89 91 O O O O
S o L T IS AL U
360 waves are passing through a point in a
1. Tiver in one hour. Time period of the wave is:| 1 105 1005 0.1s
Lok afe s 13604 2 Ly Lkl © o O O
The sound energy passing per unit area periintensity of  |Pitch of
;. second is called: sound -1sound Frequency Loudness O O O O
vl Sossedl S e L e Lt L et ST BT S A
An object is at 3omfrom a lens and the
. image is at 10cm , the magnifications is: ]
" dw l0om MGG ey Nom = Rogr g Al : 10 3 o O O O
el Do
., Human ear can respond to the intensity of: | 107°Wm™ to {107 Wn? to [ 107°Wm™ to | 107~ to O O O O
1 E S0P ST e 2 630 | 10 W 0.1 100
if 5 joule work is needed to shift 10 coulomb
charge from one point to another, the
potential difference between the points is:
i . N4 yr4 0.5V 10F
LLi PP otige poantiy (5 b1 L 101 O O O O
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How long does it take a current of 10 mA to
y. deliver 30 C charge? 05 3005 3000s 35
?fﬁ/gu.::ubfc_}..LL/}A.?Z;,JE#}@O!&/%IJ10_9 O O O O
Determine R, for the R,=4Q) Ro2C) }
lo. circuit: 40 20 12Q2 60
SER gL Ro=aQ 4 O O O O
1. Iftumn ratio of a transformer is 100. then: N N _loo 7 e 7 =100/ O 0O O O
1000 205 100 W, 100 ! '
The output of a NAND gate is 0 when; A=1 A=0 A=1 A=0 .
2.
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SECTION — B (Marks 33)

Q.2 Answer the following questions briefly. (11 x 3 =33) ._u:),/’i:.«lzfﬁ/‘? Lzl 2/:2ny'
(i) If the length of a pendulum is doubled, what will be its Briefly describe the factors affecting the magnitude of
time period? _ 3 | or | induced emf. %3
Wl i,,;,(' TN AAL Hs:ggfl LA ML nd s gembl g
(i} | Give three differences between loudness and pitch. o Compare RAM and ROM memories. ig+
NG E e s LG 351 3 R S i S ROMIRAM | 1.5
(iii} | What will be the speed of light in glass that has a State Right Hand Rule for cuirent passing through &
refractive index of 1.57 3 | oRr| conductor placed inside a uniform magnetic field. 3
?d’n.lfcciu!(fu:.-ufu’lrﬂlj Jf,‘a}?ﬂ;bﬂﬁaﬁu_ﬂ q’fugl‘fydu}:}':f’bédefi_zft_}‘/y(_z%ﬂjv@f
{iv) | Two small, equally charged metal spheres, having An electric geyser working at a potential difference of
charge 9uC each are placed at a distance of 4.0cm. 240 V draws 20 A of current. How much electrical
Calculate the magnitude of force acting on these. s | or energy will it consume in 2 hours? 3
L EELA.0 eme eI £ L OUCE e a el 55 ¢S 2080 Lok A A3 L 240V 4 AL
_uﬁ&@;dbi_/féul_wé) ?gL/dWlﬁJlﬂ}gldfu:.gﬁJf..{_
(v) | Light enters from air into water at an angle of 35° and A battery torch bulb uses 4 cells {(each of 1.5 V) {o
it is refracted through 18°. What is refractive index of glow. If resistance of the bulb is 20.0 Q, determine the
water? 3 OR current. 3
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{vi) | Find the power supplied to an eleciric iron, drawing Cobalt-60 ,Undergoes beta decay. Wiite its reaction
6A current when connected to a 200V power supply. equation, Determine the identity of daughter nucleus.
S nFe S SeadieS200vg i | 3 | OR A._u:f_;m-u:’g el L iabnd it teosdy | X3
S od
{vii) i Briefly explain the Right-Hand Rule for the case of A 12 V battery passes a 1A current through a resistor.
current passing through a solencid. 3 | pr/| Find value of resistance used in this circuit. 3
TSI I dpard L ST e e LS e S e A i8S 12V L
(viii}| How electrons are deflected by an electric field? Briefly elaberate mutual induction. Make a schematic
Show it by a diagram. 1+2 | OR | diagram. Write its units. ix3
N N S T g M S Sk S B S S
(ix) | Discuss an AND gate with s circuit diagram, symbol Briefly explain the function of the shock absorber.
and truth table. 1x3 | OR | (application of the damped oscillation). i 3
S L N I ‘r'"? Bl d o laND (e L LDy S d A I e
(x) | Differentiate between Hardware and Software. 1.5+ R Give three differences of loudness and intensity. x5
LSS e S aih | 15 ° LTI E A i |
{xi) | What will be the atomic mass and atomic number of Determine the electrostatic force between carbon
the nuclei that comes after alpha decay of uranium nucleus (having 6 protons) and the valence electron
(U-238)? What is its name? 1x3 | OR which is at a distance of 6.4 nm from the nucleus. 3
A A LA AU L1325 01 £ L 501 £(U-238) Uiss—ge 4 K5 L6 dnme B s pto 6 U S £ Lt
S e L e P
SECTION — C (Marks 20}
Note: Answer the following questions. {4 x5=20) _u_'f/ j.;,i.,l 2L e s
Q.3 | Show that motion of a mass attached to a spring is Elaborate the working of refracting telescope. Draw its
SHM. Derive formula of its time-period and frequency. 4 ray diagram. Determine its magnifying power.
sipft L nsiMa 7 fUie e Lg Sy S et | 401 | OR St Fe sy S eolof ¥ L FE B, | 19341
JIE L kL) LR Bl
Q.4 | Explain- combination of capacitors in series with SONAR sends ultrasound signal towards sea bed. It is
diagram. Also give its characteristics and derive a received back after 8.3 s. If speed of sound in sea
relation for its equivalent capacitance. 142 | op water is 1550 ms™i. Find the depth of sea bed? 05
ot F1ySesadp Blaotn Sos88 Ly o Lipd | 2 Rlem £ 5E8.3 L2l let JE 3 1UE 7 s s 4 SSONAR
G el d LS Gl S i U 81 S T 1550ms™ L ST AL sy
Q.5 : Explain tuming effect on current carrying coil in a Describe ‘word processing” and ‘data processing’| ,¢
magnetic field with diagrams. 3+2 | OR | software, Enlist their characteristics. +
,L,{f Py J rl/? -s_wu,(! :.@l..ﬁ)/_/_ff l;(;l;/_gf‘f uf,i?_ﬁ_f _u'.“’J u‘ ..-.._L_.a:“" J ul_u:f wu:d/ ﬁ:‘:—?{/uﬂ’/,?;}ulu@f{jﬂ 2.5
Q.6 | What is half life? Derive the formula for number of un- What is a Cathode Ray Oscilloscope (CRO)? Discuss
decayed atoms. Draw graph of atoms decaying with its working principle with diagram. Give its uses.
time. 1+2 Lot fede Lo Budmgs Sreerise f F kT il
. . 3 OR | LU LK mbl Sokeuice ok b Te 38 | 44042
Lot b KL S o s S8 3 e\ sy | *2 r r ' S
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